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Question 1D : 54592770919

Q.2 If forest' means ‘tiger’, ‘tiger’ means ‘zebra’ , ‘zebra’ means ‘piano’, ‘piano’ means ‘gym’,
gym means ‘football’ and football means ‘Player’, then What is the name of the animal with
black and white lines on the body?

Ans J‘I Piano
25 2. Tiger
< 3.Zebra

75 4 Player
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I Question ID : 54592770909

Q.3 zfX ‘ENGLAND' & &R ot 30 frsst orer & g« gy wimar & ok =i ol 393 oiTet e &
e e e @ at eregl & ot oft R aioe &2

Ans X1 dlm
Xoa
o 3 =R
X 41w

Question ID : 54592770904

Q.4 19 g g arfSrae (A) ik FROT (R) & frg, P § & af Rraen o3
affery= (A): s o) TeY ER &1 UTH= eeh IehT &1 JahdT g1
&R (R): Résgw Rraf@= D f =it & sRorglan 21
Ans X 1. (A) Tere &, @6 (R) e &
2K 2. () wea 8, A (R) e @
< 3.2F (A) 3R (R) we &, 3% (R) (A) &1 weh Razor 4
W 4. 81 (A) 3R (R) 5 & 3R (R) (A) &1 6} Rrazor @

Question ID : 54592770913

Q.5 af wsr smepfer (x) # RRamg g srER F1TST A g w1 offe it At R srar @ sk o anefar
(y) ® feaq orER &rer ST & a1 39 Eies o 9 R m?
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Question ID : 54592770922

Q.6 I9 TE & ugH ot ardht @ A=A g1
Ans X 1.34:102:204

X 2.24:72:144
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X 3.21:63:126

o 4.17:51:106

Question 1D : 54592770914

Q.7 T EE&AT 1 74 o |

4NN
N4

Ans X112
X 26
X 3.9
W 4.8

Question ID : 54592770915

Q.8 4 2w mg ust A, ves = Rar man 2, s amt 2) A=A | oz 11 Y v &)1 simuent wuEl Y
T AT @ TR 9 S 7 awl & 99 v g enuent Pofo g R R e v @
== g AT sudad 2

U
et gt # Tt Y & fd S aret wi B s A e af @ gfg gd @

ROy
1. areftor g & v aret @b, el Y & A ad )
11. 3= & vas aderor, e are sratfora R mar un

Ans O 1. aité off yderron SR AE we &
X 2. a1 & gduron | ar at || srgaRor Ee
o 3. e gduRoT || SR R
K 4. e YR | SEee e &

Question ID : 54592770912

Q.9 IH MTHfar &1 Ta & ot def Y g et 1
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Question ID : 54592770921

Q.10 uiw gie v, foran, A9, enfeen oflk 2o v Ot # 43 &)1 d-es, 2am & 18 ofie & offe forn,

Ans

o & ard 3R @ A I & 2rd ok @1 A5, anfe & ard ok 31 ard sk & A @2
X 1. R
of 2w
X 3 onf
X 4w

Question 1D : 54592770910

Q.11 ¥R e Ry e & =d @ = el avg @ = § safes oa e @1 o & aa=s &

Ans

o 1. &
X 2mg
X 3. 9r™
75 4. 3

Question ID : 54592770905

Q.12 Frafefa@a d @ &= an &7 s g, foan, ok wid & e wey & nfiaffea s 87

Ans

X
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Question ID : 54592770916

Q.13 Rungus d 3w sngfa &2 o ner snegpfar afafga 1

i\

Avd

X3

v E

Question ID : 54592770920

Q.14 sji@en ¥ Ted ug @el?

ILLEN,C,R
Ans 1R
X 21
o 3N
KoalL

Question ID : 54592770903

Q.15 Ruay Rl § | fram & gl
Ans 3 1 RN:PL

X 2.CF:AD

of 3.Uz:ws

25 4.MO: KM

Question ID : 54592770906

Q.16 uH & Ry 1y Rl § @ s ez & Wi & g
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Hrewar: yeEe 2 ?
Ans X" 1 et : anfae
o 2 o g

X 3.wR: dE

25 4. 9| : gERR

Question ID : 54592770908

Q.17 faw snepfear S g9 Sit o arepfar Sifedl S 9= 81

Ans T
x| E
1 I
X 2 O OO
I I
X3 A g
| II

b
- K3
g

Question ID : 54592770917

Q.18 I9 3Tephfa &1 Tg= oY FAaH uH srepfa Sreft @) RAshaand &)

e |

L=
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Question ID : 54592770918

Q.19 & Ue ufer d @2 g &, Prad dga ard ok & 3Red ofik g @ werror A Tue mR &1 8nR
95 dg TR aafer a4 1 dr d et s &2

Ans X127
X228
o 326
X 425

Question ID : 54592770911

Q.20 Select the related word from the given alternatives.
Hindu : Temple :: Sikhs : ?
Ans X 1. Mecca Madina
¢ 2. Gurudwara

ZX 3. Golden Temple

X 4. Church

Question ID : 54592770907

Section : General Awareness

Q.1 df3a e R em=f e arer 43 @ davfla &2
Ans X 1 g

X 2 qan

(3. qE

X aaigh

Question ID : 54592770924

Q.2 Pandavani is the folk music of which state?
Ans X1 Goa

o 2 Chhattisgarh
K 3. Uttar Pradesh

X 4. Bihar

Question ID : 54592770923

Q.3 fagy e a1 ey wel T &2
Ans o 1 arfiines dft

X 2.aff
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X 3. foda
X 4 it

Question ID : 54592770925

Q.4 Who among the following established the kingdom named Hindavi Swaraja?
Ans XX 1 Bahadur Shah Zafar

K 2. Guru Tegh Bahadur
( 3. Chhatrapati Shivaji

x 4. Krishnadeva Raya

Question ID : 54592770934

Q.5 uruwl swy fFrEfef@add fRrmde e &
Ans X' 1| dfigerht

W 2 dcfiea

X 3. g

X 4 qfem

Question ID : 54592770941

0.6 =@ & 4 = o Fawd! ve adqu =g 8?2
Ans X 1w

£ 2. st

W 3 d

X 4 75T

Question ID : 54592770928

Q.7 Risa ¥ wed dwr wies vardor 2 @ &2
Ans X 1. e wie gaade

7< 2. =gt T g

W 3 3wt g

X 4. s wis vae

Question ID : 54592770926

0.8 g« e FefefEs vafavofta @ 4 @ fras Safda &2

Ans X 1. srad M wEEE
o 2 @azT s ver & deR R 3 R ok 3 v & PuerE @
PN 3. GO WA T 3R et & g g wftra wewh witw
K 4. sremny uRad iR meereaor

Question ID : 54592770929

Q.9 FaffEa d | fra wew A geft svust seihr Hege adf 82
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1. shTETE
V 2 e
X 3w
X 4 gt

Question ID : 54592770931

Q.10 ugel AR Era aifwiftes 2020 & P=faf@a § & B @« =t siter smem?
Ans B 1 dfiermsh

X 2. 2w 2w

< 3. &

of 4 @eEfEn

Question ID : 54592770942

Q.11 &g e & gdA- Agrafad & &7
Ans X 1. i deed

2K 2w ufawd
W 3. Gt
K A aEdgE

Question ID : 54592770935

Q.12 Which of the following text deals with the history of kings of Kashmir?
Ans v 1. Rajatarangini

x 2. Kitab-ul-Rehla
X 3. Kitab-ul-hind
X 4. Padmavat

Question ID : 54592770932

Q.13 wRdT HRu # orgede 371A Prafafa 4 & Rk ar 4 2
Ans o 1 anTrte T & wee A R guEy
X 2. Rt e srgger @ ) agafa 6 afe
X 3wl w6 0 6w A 4 o aud @Ay ufte
2K 4. o SR Ao & ey H srurd Iudy

Question ID : 54592770938

Q.14 SHTERTIR WA Foi Ruaer el foua &7
Ans B 1. wgRIE

X 2 afeg

X 3 ammy

o 4 orma

Question ID : 54592770930
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Q.15 e g % 3 et o o frar R ar?
Ans o 1 Tz dE

N 2. T WA

X 3 EIn e

X 4 s ArE 3

Question ID : 54592770933

Q.16 Which of the following diseases is not caused by bacteria?
Ans X' 1.TB

W 2 Polio

X 3. Cholera
X 4. Typhus

Question ID : 54592770927

Q.17 weR ¥ & fra o F wRa v Rear @ genfaa fEar mar ar?
Ans X' 1 1984

X 21986
25 3.1982
o 4.1980

Question ID : 54592770937

=
Q.18 Who among the following wrote the book ‘The Company of women'?
Ans  off 1. Khushwant Singh

x 2. Manmohan Singh
< 3. Kiran Bedi
X 4.L K advani

Question ID : 54592770936

=
Q.19 The Governor holds office for a period of
Ans X 1.4 years

K 2. 3 years

K 3. During pleasure of the Chief minister

( 4. During pleasure of the president

Question ID : 54592770939

Q.20 Fr=fafEs 3 @ &= veneen & afera § gates wu= w@ar 7
Ans X 1. dieReT e

X 2. wdte mmarerm & amandis

X 3. Ira & g i

W 4
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Question ID : 54592770940

Section : Arithmetic Ability

Q.1 &M A, B 3R C & 141 &Y Hwemn &1 aurd 7: 9 : 5 81 afy 40 &9 B Sieaw A # anfie g ot 8
At A oflk B & STt it we o1 orgure 1: 1 8 Fen A, B iR ¢ d ot ol A dem 1
Hifeg

Ans X1 844
W 2840
25 3.420
X 4.162

Question ID : 54592770952

Q.2 16 &1 6 b uferfe & &ds Tes 150 Hiex #eft, 20 diex 91 oflk 12 diey &t dar =t 25 =
# a1 Fehd &1 12 7T 8 b nfafe = ads 800 #iex ift, 15 Hiex 91t ok 6 diex &t flar
o= Re d g madd &7

Ans X" 1 100 RH
W 2.50f=
X 3.60fm
X 4.25Rm

Question ID : 54592770958

Q.3 U arg & Fa # 10 uferra A 3fF g€ of e 10 ofdem 6 w5t gd) gea J e ol
aRed wma fifcg)

Ans X 1.1 vfRwa $ afF
75 2.0 vl
X 3 FAA T A
W 4 1 vfdya B

Question ID : 54592770949

Q.4 20 ufasa gz ) fef W, g avg &1 579 $.760 § | 357 &1 IR s geg a1 ur?
Ans X 1.%.1013

X 2% 1046

X 3.%.912
W 4.5 950

Question ID : 54592770946

Q.5 10 o & ufa sewfta uRar 6 sffaa amyg 25 af ot 39 @ 2 a=f o1 o= gom oA A 39
uf¥ar # aewl & Temn 7 & ok af uftar $ sifaa g 27 adf @1 98 7 & & a@raen ek
Ted & 4 af aer § &t a2 a= &Y g @ gft ?

Ans X1 1ga
X 2738
W 3 oaf
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X 4. PrerfRa 48 R s aaan

Question ID : 54592770948

Q.6 p @ 4 geran 3R 38 q # Siter s afgg arfes afvordt srpora 10 5 gt wmg?
An
s x 1 P+Q

2

Kzﬂ

P+Q

v & Sp—a

Question ID : 54592770953

Q.7 d' a9 arel Ueh U1y & ZRT i urt & Fh 40 e F @reft f o gedt @, 6t 2d = arst
UTEY it I @relt S HF fahaeT aug snim?

Ans 31,20 e
W 2 10fme
X 3.40fFe
< 4.80fFe

Question ID : 54592770957

Q.8 4 frefier i +ft 2ts d, A, B & 400 e @ sfta wiman 1 3¢ Srs @ B, € &t 400 Hiez /@
AT a1 81 T A 3R C, 4 reitdier &l <te it uss a1y wr1 e =g & At A, C =t et
Hiex 1 o & g?

Ans X 1. 225
X 2. 450
W 3 760
75 4.800 f=

Question ID : 54592770955

Q.9 e 50 fedl/a Hr rfa @ 4.5 92 ae g & @ ok 70 Bed/a f ofar @ 7.5 92 F= amsn
e g1 g9 ofd H ag uren @ s 36 et g8 o et 6/7 aa fvar un 3@ fRaeft st nfar &
aran et ey arfel Qv g Y arn 5 e F a9 g sme?

Ans X 1. 32 Rl
o 2. 25 R
< 3.30 fmfi/e
p R

Question ID : 54592770956

Q.10 Fr=fefEs orw & o= @ sree &) 9 Ry e nw @ IR Efe
g 7g # v uitar @ =
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fRvarr ofiR ey &3 & FEra o &1 HH: ST T 87
Ans X' 1.1:3
X 2.4:1
o335

X a2:

w

Question ID : 54592770960

Q.11 g gdten d, sftea i 60 2 g 32 gere F o oz gar wen & 80 fRenfifal & siw afer fRameff
90 3 & 60 2iek H aeet MY 2 g off 50 i =9 & | 79 Fiferg & fraa fenfdat
e &7

Ans X 1.250
o 2240
X 3.300
7 4.280

Question ID : 54592770947

Q.12 Sixteen cylindrical cans, each with a radius of 1 unit, are placed inside a cardboard box four
in a row. If the cans touch the adjacent cans and or the walls of the box, then which of the
following could be the interior area of the bottom of the box in square units?

Ans  of 1 64
X 2.256
X 3.32
X 4128

Question ID : 54592770959

Q.13 Fr=ferfEm wea & usaras Reg (?) & T w® a2 am=r 9ifgg?

472+ 7222942 +2516

Ans X1 61
W 257
X 3.63
K 4.59

Question ID : 54592770943
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Q.14 Study the following graphs carefully and answer the question that follow.

Number of Candidates appeared and Passed in SBI PO Prelims in 2019 From Four Different
Cities

‘m.

\m P ¥
B S\ e
4 %

O e - 800
Mg pr Pune Dihi Indore

What is the total pass percentage in SBI PO Prelims 2019 in all the cities together?

Ans

18
X2 7%%
X 3. 92%

23
v 7'4—1%

Question ID : 54592770961

Q.15 F=ffEa wt gw fifegl

845 374 _ 225

=t X
Ans  of 1 263

X 2192

K 3121

K 4.9

Question ID : 54592770944

Q.16 |« =1 ¥ 50 . ufer frelt & Feaz 75 =. ufa foret gt man et s st s mf g
T W@ g @ud &t fohaa oftera @ &n & Y snaermaar 87

Ans X 1. 20ufeE
75 2. 25ufaema

’ 2
X 3 16 ufderd

v 33§q1?|"alr-r

Question ID : 54592770950
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Q.17 Fr=fefEa asre &) aw fifem)

166 x4 - 52 x 54232 + 8 - 4800 + 15
Ans X" 1 240

2113
X 3.265
K 4.215

Question ID : 54592770945

Q.18 In a certain store, the profit is 250 percent of the cost price. If the cost price increases by 20
percent but the selling price remains constant, approximately what percentage of profit on
the selling price ?

Ans 3 1,60 percent
x 2. 75 percent

( 3. 66 percent
x 4. 56 percent

Question ID : 54592770951

Q.19 P oE & o= @ srege &) S Ry e uw @ s &
el & ufe Rret Fa

é
Ml | B

HaST

ioft 1 Frerer (aFY Rty emrer (wf et Y e @ R nfvera ofs 22
Ans X 1. 40 ufdera

25 2. 30 ufdera

< 3. 10uferE

W 4 25ufR@

Question ID : 54592770962

Q.20 uas A 10 auf & aruror sars § R @ ghpE g s @)1 wraror sre & e R @ e aul
# ag 4 7 gt saft?

Ans "1 20 @
X 2.25a4

W 3 309

X 4.50ad
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Question ID : 54592770954

Section : General English

Q.1 Select the antonym of the given word.

Defer
Ans o 1 Prepone

X 2. Abstain

X 3. Convict

x 4. Postpone

Question ID : 54592770971

Q.2 Out of the four sentences given below, find the sentence which is grammatically correct.
Ans x 1. You, | and he are going to pluck the mango from his garden.

K 2. He, you and | are going to pluck the mango from his garden.
\, 3. 1, you and he are going to pluck the mango from his garden.

K 4. You, he and | are going to pluck the mango from his garden.

Question ID : 54592770964

Q.3 Out of the four words given below, find the word which is not correctly spelt.
Ans X 1.Beginning
( 2. Maintainance
K 3. Intermission
K 4. Mysterious

Question ID : 54592770973

Q.4 Select the synonym of the given word.

Barren
Ans  of 1 Unfruitful

K 2. Luscious
K 3. Productive

K 4. Fertile

Question ID : 54592770972

Q.5 Select the most appropriate option to fill in the blank.

welcome.
Ans 31 the

x 2. No article is required

(S.a
Xt{an

In movies like this, a picture is worth thousand words, and less talk would have been
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Question ID : 54592770967

Q.6 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select option No substitution required.

Ritika was a young mother with three small children when her husband had became the
Warden.

Ans J 1. became
x_ 2. was became

XI 3. No substitution required

X 4. did became

Question ID : 54592770965

Q.7 Identify the incorrect sentence or sentences.

a. MS was a child at heart.

b. Never has she allowed fame to affect her.

c. Her day started at 5:00 a.m. with pujas.

d. Then began her practice session which would go till lunch time.

Ans X 1 aandd

x?_.bandc
X 3.aandb

o 4 bandd

Question ID : 54592770963

Q.8 In the following question, there are six parts marked S1, S6, P, Q, R and S. The position of S1
and S6 are fixed. Some parts of the sentence have been jumbled up. Rearrange these parts
and choose the proper sequence from the given options.

$1. Meghan Markel, Prince Harry's fiancé, must have heaved a sigh of relief after she
passed the annual Christmas launch at the Buckingham Palace with flying colours.

P. She is said to have pulled a cracker with her future father-in- law, Prince Charles.

Q. Dressed in a dress by Self Portrait, Markel, looking glamorous was nervous initially.
R. She was introduced to all the members.

S. It was her first major test as a member of the royal family.

$6. The royal family was quite eager to meet her even as Harry looked visibly pleased and
proud.

Ans o 1 sqre

5 2.PRQS
X 3.PRSQ
X 4.50PR

Question ID : 54592770970

Q.9 Rearrange the following sentence in its correct order to form a meaningful sentence.

She took them all upstairs and

P - showed them their rooms, and took

Q - because there was no other room left
R - cousin Anna Jane in her own room

Ans " 1.PQR
X 2.QRP
< 3.QPR
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of 4. PRQ

Question ID : 54592770969

Q.10 Select the most appropriate option to fill in the blank.

Farmers must demand full value for their stock and insist on payment the day.

Question ID : 54592770968

Q.11 Find the correctly spelt word.
Ans  of 1 Perseverance

x 2. Persevirence
x 3. Persaverence

x 4. Perseverence

Question ID : 54592770974

Q.12 Four alternatives are given for the Idiom/Phrase underlined. Choose the alternative which
best expresses the meaning of Idiom/Phrase.

Ross and Jane are so much on the same wavelength that they hardly ever get bored of each
other’s company.

Ans X" 1. to be fond of each other
( 2. to think alike and understand completely
x 3. to be in out of tune with each other

K 4. to have a genuine friendship interest

Question ID : 54592770976

Q.13 Four alternatives are given for the Idiom/Phrase underlined. Choose the alternative which
best expresses the meaning of Idiom/Phrase.

The Indian entertainment industry has come of age and there is a genuine need to introduce
some fresh talent to maintain people’s interest and attention.

Ans X 1. tolag behind competitors
X 2. to become obsolete
K 3. bein a dying state

“ 4. to mature and develop fully

Question ID : 54592770975

Q.14 Select the word which means the same as the group of words given.
The killing of a husband by his wife.
Ans X 1 Regicide

K 2. Uxoricide
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X 3. Matricide

W 4. Mariticide

Question ID : 54592770977

Q.15 Select the most appropriate option to substitute the underlined segment in the given
sentence.

Gayatri informed one of the directors that she has sent the material for printing.
Ans X 1. sends

J 2. had sent

x 3. had been sending
K 4, shall be sending

Question ID : 54592770966

Comprehension:
Read the passage given below and answer the questions.

The first films India watched were not made in Bollywood but cinema had indeed arrived on
India’s shores. The year was 1896, and thanks to the country’s colonial rulers, it was the
Lumiere Brothers who introduced the art of cinema to the subcontinent. Bombay, as it was
then called, was the first Indian city to screen Cinematography, six short films by these
cinematic pioneers.

But it was a portrait photographer called Harischandra Sakharam Bhatavdekar who made
Indian ‘'motion picture’ history. His short reality’ film screened in 1899 was called ‘The
Wrestlers’ and was a simple recording of a local wrestling match.

It was only after the tumn of the century that Indian entertainment underwent a sea change
when the Father of Indian Cinema, Dadasaheb Phalke, released his path-breaking film of the
Silent Era, Raja Harishchandra. The film, based on a mythological character, was released in
1913 and was India’s first full-length feature-film. Bollywood had arrived.

The growth of technology and the excitement it generated the world over eventually gave birth
to India’s first talking and singing’ film - Alam Ara made by Ardeshir Irani and screened in
Bombay in 1931.

Finally, India’s actors had found a voice. They could talk, they could Shout, they could even cry,
and they could do one more thing - sing for their audiences. It was a gift that remains the
signature of the quintessential Hindi film to date.

Developments in the world of Indian cinema were rapid and the 1930s and 1940s saw the rise
of film personalities such as Debaki Bose, Chetan Anand, S. S. Vasan and Nitin Bose, among
others.

In the meantime, the film industry had made rapid strides in the South, where Tamil, Telugu
and Kannada films were taking South India by storm. By the late 1940s, films were being
made in various Indian languages with religion being the dominant theme.

SubQuestion No : 16
Q.16 What is the signature of a typical Bollywood film?

Ans X 1, Actors
W 2. Songs
x 3. Acting
X 4.Drama

Question ID : 54592770981

Comprehension:
Read the passage given below and answer the questions.
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The first films India watched were not made in Bollywood but cinema had indeed arived on
India's shores. The year was 1896, and thanks to the country’s colonial rulers, it was the
Lumiere Brothers who introduced the art of cinema to the subcontinent. Bombay, as it was
then called, was the first Indian city to screen Cinematography, six short films by these
cinematic pioneers.

But it was a portrait photographer called Harischandra Sakharam Bhatavdekar who made
Indian ‘motion picture’ history. His short reality’ film screened in 1899 was called The
Wrestlers’ and was a simple recording of a local wrestling match.

It was only after the tum of the century that Indian entertainment underwent a sea change
when the Father of Indian Cinema, Dadasaheb Phalke, released his path-breaking film of the
Silent Era, Raja Harishchandra. The film, based on a mythological character, was released in
1913 and was India’s first full-length feature-film. Bollywood had arrived.

The growth of technology and the excitement it generated the world over eventually gave birth
to India’s first ‘talking and singing' film - Alam Ara made by Ardeshir Irani and screened in
Bombay in 1931.

Finally, India’s actors had found a voice. They could talk, they could Shout, they could even cry,
and they could do one more thing - sing for their audiences. It was a gift that remains the
signature of the guintessential Hindi film to date.

Developments in the world of Indian cinema were rapid and the 1930s and 1940s saw the rise
of film personalities such as Debaki Bose, Chetan Anand, S. S. Vasan and Nitin Bose, among
others.

In the meantime, the film industry had made rapid strides in the South, where Tamil, Telugu
and Kannada films were taking South India by storm. By the late 1940s, films were being
made in various Indian languages with religion being the dominant theme.

SubQuestion No : 17

Q.17 In which year did Harishchandra Sakharam Bhatavdekar make Indian ‘motion picture’
history?

Ans X 1.189%
W 21899
25 3.1930
X 4.1940

Question ID : 54592770980

Comprehension:
Read the passage given below and answer the questions.

The first films India watched were not made in Bollywood but cinema had indeed arived on
India’s shores. The year was 1896, and thanks to the country’s colonial rulers, it was the
Lumiere Brothers who introduced the art of cinema to the subcontinent. Bombay, as it was
then called, was the first Indian city to screen Cinematography, six short films by these
cinematic pioneers.

But it was a portrait photographer called Harischandra Sakharam Bhatavdekar who made
Indian ‘motion picture’ history. His short reality’ film screened in 1899 was called The
Wrestlers’ and was a simple recording of a local wrestling match.

It was only after the tum of the century that Indian entertainment underwent a sea change
when the Father of Indian Cinema, Dadasaheb Phalke, released his path-breaking film of the
Silent Era, Raja Harishchandra. The film, based on a mythological character, was released in
1913 and was India's first full-length feature-film. Bollywood had arrived.

The growth of technology and the excitement it generated the world over eventually gave birth
to India’s first ‘talking and singing' film - Alam Ara made by Ardeshir Irani and screened in
Bombay in 1931.

Finally, India's actors had found a voice. They could talk, they could Shout, they could even cry,
and they could do one more thing - sing for their audiences. It was a gift that remains the
signature of the quintessential Hindi film to date.

Developments in the world of Indian cinema were rapid and the 1930s and 1940s saw the rise
of film personalities such as Debaki Bose, Chetan Anand, S. S. Vasan and Nitin Bose, among
others.
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In the meantime, the film industry had made rapid strides in the South, where Tamil, Telugu
and Kannada films were taking South India by storm. By the late 1940s, films were being
made in various Indian languages with religion being the dominant theme.

SubQuestion No : 18
Q.18 In the mid-twentieth century, on which theme were most Indian films made?

A. Religion
B. Sports personalities
C Social Issues

Ans X' 1. 0nlyB andC

/< 2.AllA Band C

W 3.0nlyA

25 4.0nlyAandB

Question ID : 54592770979

Comprehension:
Read the passage given below and answer the questions.

The first films India watched were not made in Bollywood but cinema had indeed arrived on
India’s shores. The year was 1896, and thanks to the country’s colonial rulers, it was the
Lumiere Brothers who introduced the art of cinema to the subcontinent. Bombay, as it was
then called, was the first Indian city to screen Cinematography, six short films by these
cinematic pioneers.

But it was a portrait photographer called Harischandra Sakharam Bhatavdekar who made
Indian ‘motion picture’ history. His short reality’ film screened in 1899 was called The
Wrestlers’ and was a simple recording of a local wrestling match.

It was only after the turn of the century that Indian entertainment underwent a sea change
when the Father of Indian Cinema, Dadasaheb Phalke, released his path-breaking film of the
Silent Era, Raja Harishchandra. The film, based on a mythological character, was released in
1913 and was India's first full-length feature-film. Bollywood had arrived.

The growth of technology and the excitement it generated the world over eventually gave birth
to India’s first ‘talking and singing’ film - Alam Ara made by Ardeshir Irani and screened in
Bombay in 1931.

Finally, India’s actors had found a voice. They could talk, they could Shout, they could even cry,
and they could do one more thing - sing for their audiences. It was a gift that remains the
signature of the quintessential Hindi film to date.

Developments in the world of Indian cinema were rapid and the 1930s and 1940s saw the rise
of film personalities such as Debaki Bose, Chetan Anand, S. S. Vasan and Nitin Bose, among
others.

In the meantime, the film industry had made rapid strides in the South, where Tamil, Telugu
and Kannada films were taking South India by storm. By the late 1940s, films were being
made in various Indian languages with religion being the dominant theme.

SubQuestion No : 19
Q.19 What does the phrase 'sea change’ imply in the above passage?

A. Remarkable change
B. Notable transformation
C. Different

Ans X 1. OnlyA
f 2.0nly A and B
25 3.AllABandC

25 4.0nlyB

Question ID : 54592770983

Comprehension:
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Read the passage given below and answer the questions.

The first films India watched were not made in Bollywood but cinema had indeed arrived on
India’s shores. The year was 1896, and thanks to the country’s colonial rulers, it was the
Lumiere Brothers who introduced the art of cinema to the subcontinent. Bombay, as it was
then called, was the first Indian city to screen Cinematography, six short films by these
cinematic pioneers.

But it was a portrait photographer called Harischandra Sakharam Bhatavdekar who made
Indian 'motion picture’ history. His short reality' film screened in 1899 was called The
Wrestlers’ and was a simple recording of a local wrestling match.

It was only after the tum of the century that Indian entertainment underwent a sea change
when the Father of Indian Cinema, Dadasaheb Phalke, released his path-breaking film of the
Silent Era, Raja Harishchandra. The film, based on a mythological character, was released in
1913 and was India’s first full-length feature-film. Bollywood had arrived.

The growth of technology and the excitement it generated the world over eventually gave birth
1o India’s first ‘talking and singing’ film - Alam Ara made by Ardeshir Irani and screened in
Bombay in 1931.

Finally, India's actors had found a voice. They could talk, they could Shout, they could even cry,
and they could do one more thing - sing for their audiences. It was a gift that remains the
signature of the quintessential Hindi film to date.

Developments in the world of Indian cinema were rapid and the 1930s and 1940s saw the rise
of film personalities such as Debaki Bose, Chetan Anand, S. S. Vasan and Nitin Bose, among
others.

In the meantime, the film industry had made rapid strides in the South, where Tamil, Telugu
and Kannada films were taking South India by storm. By the late 1940s, films were being
made in various Indian languages with religion being the dominant theme.

SubQuestion No : 20
Q.20 Why is it said that India’s actors had found a voice?

Ans ( 1. They could speak, They could cry and They could sing
x' 2. They could cry
x 3. They could speak
x 4. They could sing

Question ID : 54592770982

Section : General Hindi

Q.1 F=fefaa & | gfem ez &1 9= fifdig)
Ans  off 1 sr@ER

X 2 g@m

X 3 a@wr

X 4 &ar

Question ID : 54592770994

Q.2 ‘e & -an wr &2
Ans K1-f3‘lm

X 2.z e

X 3 aghf

o 4 FEy g

[ Question ID : 54592770984
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Q.3 wrrifeh ‘e == ATt e 6 onef -
Ans X1 g s A A off T

o 2. 7 eafs ddt ara 2
2K 3. oferra | gzaw wud Ta
X 4. SRR @ s dar g

Question ID : 54592770997

Q.4 SIYE T ATt 2T 1 TEH HfAg
Ans X1 amR

N 2. e

Ja_ Yy

X 4 mrfasfa

Question ID : 54592770990

Q.5 HeTaRT ‘georanT @ &1 ok §-
Ans X 1 ufd T8 S

#< 2. s g

o 3 5@ e

X 4 Fena gerwes

Question ID : 54592770995

Q.6 ‘ST & forg Suzam Rstor @ g
Ans X 1 el

X 2. Aol

X 3.2

o 4 s

Question ID : 54592770985

Q.7 79 A w area i fran Rregeda &2
Ans  off 1. oo @ wn awd 87
X 2. s R e
X 3 agma Rae faw
X 4 Ry A s @ B

Question ID : 54592770986

Q.8 Rywyarmm & g & ez &1 wa= fifeg)
‘g HR Iear & ot & e’
Ans X1§Q
o 2 G
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25 3. &t
X i

Question ID : 54592770989

Q.9 dre UHR &1 9a- Hifergl
‘HETVIRE ATy frads g1 v ma g7
Ans X 1 syaaren
X 2 vy am
X 3. &darm
o 4 adaren

Question ID : 54592770992

Q.10 Tia RER ey T@AaT & gl & e F U, aramian a1 Gt ST I8 IohT- e R 2 at
I3 =1 o fa Rieg &1 oat e wiren 87

Ans X 1. guifem R
of 2 s R
< 3. 1T g
X 4. e frg

Question ID : 54592770998

Q.11 fore area # v Reel o1 | uah =8 R man g2

Ans X 1. thera: guE WA @9 BT 31
N 2. ug wfa orht 7 81
PN 3.3 RATA sl grdeger (o quer wictor) A A sreaes umi
J 4, TR §%, A SN Wehl: eriifeh areawel ol

Question ID : 54592770996

Q.12 rsz-gm & F@l orf-ig o1 Taa Hifag)
g -frer
Ans B 1 Fusar
o 2 aswne
X 3. ame
X 4 aHw-aTes

Question ID : 54592770991

Q.13 ‘o & afgarh o @-
Ans B 1 g

X 2 @

o 3 g

&5 4w
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I Question ID : 54592770987

Q.14 AT USKR &1 T34 HIfag|
7 iR ¢ @@, geftaa Ae & &t
Ans 3 1w are
Jz et AT
2% 3. Rfares ar
25 4 s ar

Question ID : 54592770993

Q.15 ‘I~ o e oz &-
Ans X 1 weE

J 2. gemm=
75 3. omeaf

X 4 gum

Question ID : 54592770988

Comprehension:
fq g Teria & Y T Y WAl & Jea Gyl

e T T o ~ATTeh VTS 1 e W gt 81 33 ® 21 e =ymanerd & fOmd 4 o= & arden
e Ty F TareT 81 et gears O dhy anfia e & ek U Seu =mierd §1 o1 B8 e anfli|
vt fafira ordl & I =marerdl & ded o 8| Ul J=9 rarerd H Qe e urardier ofk
rerefier g &1 3o =marer & e iy St s & & g wranfie of) wefe o &
ST &l Y18 R AT ZRT ST S 21 F 62 T8 &1 30 T 31T UL W 5 &1 mardier a7 $r
STEa1 Ug ¢ foh 38 9Rd &1 Aifes gl =nfey, & # faeft =nfie ue w o o @ srpea g Ay an
g et Far mmaera an g9 Aoft & &) srererdl J 599 @9 g ghe & wud Hrf e gE
Tieh IT 1T Y Hifern ifrenT<i i e & s fog an et ey S22 & o wrie & siarfa
feret arfeh o fereft enfiren o wwenr & forg e, smder ar e ot &62d ot aifdenw 81 o fe &t
yeefienor, uzareer, Ay, sifferR-gest ofik Iamur & wu F +ff g wehar 21 & oft 3= =marera s
T HRRTR T IUTNT I AT TT T H off IR ekl § S 39 e § uied g2 @, sifeh gu
dfere aafth a1 TR wifdezor 39 83 & a1ge & 8| s s <t & =rmfier ofr sifafes
=rarefier it wipa dwer 678 g1 Fe Ied =arareral &1 A oft afvafd e s g €1

STH Ied T &1 A a6 1971 H aeeieh? Targlel = =marerd fohan v av 1972 7 g 3w
R & AT S heled 390 =araTed fhar 7mar $ik Uae 357 <raTed & 919 a¥ 1966 &
TeeTeR Uelle Ud gRaron 3= =ararerd fRar mar an)

SubQuestion No : 16

Q.16 IuRted Tegizn & STAR a9 1972 H fry 3= =uraTery &1 AT ageian Sefed I e R
TT ur?

Ans < 1. T I TEeE
25 2. gRaron 3= ey
25 3. org 3= =rarery

o 4. iR e e

Question ID : 54592771002

Comprehension:
g 77Q Terfar ST wATIYEE SeHTH & WRAT T Jeer EifSIg

e ATy T & A1 T 1 Ueh S i1 81 &4 # 21 S=a =ymanerd ¢ e & i & e
ek oY F ST & | et UehHr G g anfia uer & e Ut I= e 21 3 B e, aniid
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e fafre Tl & e el & dad o | Ui 35 <ITed § Uk e =radter ofR o
=marefler gid 81 = e & e At i frafts G & g mrarfiar sk dafea asa &
TTUT T U W AU g1 1 et 81 F 62 af Y 39 aeF 3 ug W g 1 gmaefier a9 Y
SgaTag & o 38 9R &1 A gl ey, g A feft =nfie ue w a9 o @ sy g anfgy ar
Ig farelt I=a =marer an g Soft i & srererd| d g7 @H de e & U H S HR I 8l

e Jed UTaTerd &y wifers aiftranTt H e a6 o an et s aRen @ srm wndes & siarfa
foneft =afer o fanedt onfrenme o aanR & forg Ry, ey ar fie ot A a1 ofeR &1 o Re &Y
aegefieRor, geArey, sy, sffrer-gest oft I & wu H o g wehar 31 i3 +ff 3= ey s
S HORTR T IUART 3T AT a1 g H off aR Hehar § S 3uds ety # ufew g &, fth gud
Hfere safer a1 aeewr) mfdeor 39 & & a1ee & g v oo et § =it ofv sfafss
qrarefier &Y wiepa HE@ 678 §1 o =g raTdl o 71 +ff uRafda fear s 81

ST I RATATed HT A a¥ 1971 H Gawe Targrét 3= =ararerd forar mar gd ay 1972 # #R 3=
RIEY & ATH Seeieh? hled Jod =araTerd fohar war 3R Uaia Ied ~araierd &1 =19 avf 1966 7
e UuTla Ud gRaToT 3= rared fohar mar ami

SubQuestion No : 17
Q.17 IuRte Terier & Sgar 321 # fhas S surarerl & srdels ue wea | SameEr g

Ans X 1 gfm
X 2.9
(3 d
X aa

Question ID : 54592771000

Comprehension:
ferg 7Tq Trerier T Ay Sreye @Y UsEl @ Sear EIfSg)

Ted AT TS & ATFAe ULTHH ol Ueh WHE 8id1 81 &9 7 21 == =amarerd g o & i & ardels
Tk T 9 wa1e] 81 et vanms dun g anfig wewr 2 ek U S ey 81 o 88 dhe g
vy fafiye araf & Seg ~marerdl & dgd ond &)1 Ui =g rared H e e rarfier ofk g
rerefter g1 &1 I= e & g refier i Prfes gar o g e o) HEita e &
ST il Hellg W Apufd RIS STl 81 3 62 a9 & 39 96 07 U W ¥Ed &1 =mardi 397
STgar g & o 38 wRrd &1 Arifes g ey, Sur # freft =nfires ue w o o @ s g @nfigw an
Tg et I =meery an 30 Soft &t &) srererd # g7 wH A gehter & wu H Hrf @ g

T 3T ~UTATeTd & Hifele ST i 2871 e foh forg ar foredlt o 3290 § o+ @ndels & siarfa
farelt arfen o faeft enflrenrz o wwanr & forg Rdar smeer a1 e it 633 vt aifdaR 81 ag e
vegefieRoT, geAr e, A, siffrerR-gest ofit amor & wu H oft g Tehar 81 &t oft 3= =manery s
T SRR T IUGIT I A 1 G H 1 W Tehal & S 39 erdety § ufed g5 o, ey 3w
dfera aafeh a1 gar uifdeor 39 83 & a1ge & g s s ot & =mamefier oiz sifafes
refiert Y wiepa e 678 §1 Fo Iea =mareral &1 A oft afafda fma s g €

3 I Ty 1AM a6 1971  aaeieht Targlel 3= =rared {3 man ud a¥ 1972 § iR 3=
SATITAY & 14 S5eihe elicd 3ed AT fahar mar ofR deire =2 =mred &1 A ad 1966 §
Feeiahe Uond Ue glamon g= =mmarera fsar mar e

SubQuestion No : 18
Q.18 IuRler TTeTier & SR, A5 & e HATEH &1 UHd FF g 82

Ans B 1. aomE
X 2. oy
o 3. 359 =maE

X 4 i

Question ID : 54592771003

Comprehension:
ferg m1g Tmerier &1 e srea @ Heel & Sear AIfSrg)

Feel T IS & AT TG &l Uk T giaT §1 821 7 21 3= =arrerd ¢ o & ot & srdan
Teh oy wareT 1 fett vanr e anfia ek & o u 3eg mmer €1 o o dhe |
& i T & 3T Rl & dad o 8| T 399 TTed § Ueh Hed STt ofR &E
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=rarefier B &1 I=T =marery & Hren =rsfier 6 FRyfen g2 & g iy o HJEftd a5 &
TUT B Felg W UEufd gra w81 3 62 ad Y 39 a5 srv ug W ¥Ed €1 iy g &Y
rgarag & s 38 WRa &1 e g gy, 2 A Rt =i ue w g a @ sy g ety ar
T Tl I=a1 =amarera a1 39 Aoft 6 & srerEd] # 367 9T 9% Fehid o T H i &Y Gl 8l

Ul 3o =TTy it Afere siftrenl Y wen o & g an fhedt s SR e @ orgd erdel & siafa
fareft enfer o et onferenme on wwar & fore Pdar, smar an e ordt et &t sl 21 ag Re 58
eefieneur, UeET e, e, sfer-geeT ofe Iamur & w9 A off g wwhar &1 1 +ff 3= e s
59 SR 1 IualT 39 A A1 g1 # Ht & Feha & S 39 wrdel | vidd g5 ¢, aftma e
wifera zafeh ar aeaTd mite=or 39 &9 & T1g2 & gf Aifvra = ~amreat & =mareftert iy sifafes
yrarefier &Y wiiepa T 678 €1 Gw Ied el & a1 off uRafda forr s §1

ST JeE ATATeTd &AM a4 1971 H Feee Targre! 3= <ararerd frar T gd ay 1972 § #R 3=
TATE T A deeiaht Flea e —aread fovar mar iR uee 3= ey &1 AW af 1966 H
FeFeRt Uolle U gRamon 3= =urarerd far mar e

SubQuestion No : 19
Q.19 Iuzas meriar &1 A ofide -

Ans X 1. Rt gea e
X 2. T
25 3. apufy & aftei

o 4. 3= e vE sadh aRear

Question ID : 54592771001

Comprehension:
ferg a7y Tmerier &1 eAFYd e sreqT @ el & Sear ATyl

T T IS & AT U 1 Yk U gl g1 %2 A 21 I amrerd ¢ e § & e
Tk T T 5T 21 fonet e O dhg anfig veer & foRTeh Uy 359 ey §1 95 B g anfaa
v fafea oeaf & S=g <A & dad ofd 81 Udlids J=9 <qraTed § Geh g Tt R &
=rarefier €13 €1 I=a =marer & wen ararefter H Frafs 2 & e mrarfer ofk dafa s &
SIS &l Tellg W AT ZR1 T Sl &1 F 62 T 1 I T N0 UE W I5d &1 mrdier a9
3EaT4g & o 38 R &1 A1ifies gl ey, & # feft =nfies ug w o o @ s g anfg ar
ag ot I=g =amarera a1 g9 Siofl 6 < srereral F 3o wHy 6 i & w0 H &l & g gl

TclieR I AT et Hiferds rfereRTal i en et o o o fElt e SR & e eder & ofenta
ot aarfer or foeft fer o1 =R & o R, sy a1 Re ol & &t iR &1 g e 521
uegefientor, uzArdy, ity sffeR-gest ok Iamur & w0 # o g Tehar 81 & o 3= =rarag s
T HIORTR T IUTNT I AT OT T H off R Tehl § S 3uah ey # ufed g &, ofth gud
Hfend aafeh a1 Tty IeRROT 3 & & 1R & af| [feT geu =t F =mamefier ofir sfafsr
qrarefier & wiigpa W@ 678 €1 $o e =gl & 91 off aRafda e sge )

STH I T 1A a9 1971 H Feeiant Tangiet 3= urarer fhar man ud af 1972 gz 3=
R & ATH Jeeieh? shled Jod =araTed fohaT 7aT 3R USTa 3= ~arierd &1 919 a¥ 1966 7
ey Uelld Ud gRaron 3= =rarerd f&var mar ami

SubQuestion No : 20
Q.20 IRt werien & def F sie-ar Fuw agt agi @2
Ans \f 1. =varerdl # =aranheif i sifafe =rmsdie & wfiea wen 768 21

X 2. Iea e % e *mareher i B dar & e A ok wala o & Teaur #t
HeATE TR AT ZRT 61 Sell 31

X 3. mamftr a3 A srdar g 2 B I s & AR Ud dar A et nfires ug waw A
Fg¥E gt ATy

25 4. Reeeh e G 3 anfia wda & Rveds ure 3 marem 21

Question ID : 54592771004

Section : Discipline1

Q.1
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# 5. 5 kw, 400 V, § Hz, 4 §F T BT & 9w 7 97 fege mF w9 (EVF) # gt 25
Hz %1 7fg A2 F 400 V, 50 Hz YeTEeT o0 ¥1F ¥ e oS 8, A 56 uow o Aifa
L

Ans o 1. 750 rpm
X 2 1500 rpm
% 2 1000 rpm
X 2 1450 rpm

Question 1D : 54592771007

Q2 15 yF 51 wm Gy 400 V EFRT 3ERE ¥ HT 5 uwF ¥ o dem Al F wy mEaET =56 # o9
% 3 200 v FET ARETE § 3Ee @ syntes fovw = aeme

Ans X1 250 V
X2 300 V
X2 200 V
¥4 350 V

Question ID : 54592771010

Q3 o Frgaifa wEEEE F 100 gEe ¥ R UE 1 m s &) of sneywE W s 100 cm? ¥, A&
SHFET TS (PH &) FA T

Ans X 1. 400
X245
'3 40
Ka404n

Question ID : 54592771016

Q4 1000 gF=T T ©F AtE-HETE AT 50 A F g # @ T FEY A # 500 pwb =T
e FfHaE IT0 ST 1 FEel F T-SEeT A2 g

Ars 1001 H
X201H
<3 0.1 mH
X4 0.01 mH

Question ID : 54592771019

Q.5 Aniren-vored coil s an inductance of 4 H I the reluctanes ol e Dus path is 100 ATwh, then e number of uws in
the coil is:

Ans X 1. 400
X 2 200
3 20
X 4 40

Question ID : 54592771008
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Q.6 Two chaurged particles A and B sre allowed w Gill fum rest (wough the ssme potential dilferenee. The nmss of A js
twice that of I, and the charge on perticle B is 2 times that of A What is the ratio of the speads of A and B?

Ans o 1 |0
X214
X3 11
X413

Question ID : 54592771009

Q.7 5 equal capacitors connected in series have a resultant capacitance of 4pk, When these are put in paraliel and charged to
400V, the total energy storsc is:

Ans X1 167
v2gj
X343
Xa2rg

Question ID : 54592771005

Q.8 +4uC 37 -15 pC F I FEW 0.6 m F H W TF gEL F I @ =3 £ 6 uC I o FEw wEw
+4 uC B et 2 W @ = R eF W oOFT I FRRe A

Ans Rt 0
v206m
X312m
X403 m

Question ID : 54592771013

Q9 o _ 8sinwt + 6 sin2et F FT F GFT deesT H RMS FT 1 gem?
M Ws 2V

X2 102V

X35n2V

Ka10V

Question ID : 54592771006

Q10 ox yer=dt 9 F FF W W T TSR Iy R fega-am? oo =1 §)
iy = 5 sin3141
i, — 15 sin(314t + 11/2)
i = 10 sin314L —11/2)

o Rega-ur & fre w1 @1 e e

X 1. 254/2sin(3 14t+§)

W 2 5y2sin(314t + :—:)
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X 3 5y/2sin(314t — j—:)

X 4 25v2sin(314t — g)

Question ID : 54592771020

Q11 1 order e produce 2 Hux of 100 uwb in an zir gap of leogth 0.2 mm and aves ol cross-sective 1 cir, the il reguirzd

Ans Ln!i- 500/T
X 2 500m
X 3 250m
X 4 250/m

Question ID : 54592771015

Q.12 Inan inductive eireuit, if the active and reactive cempenents of line curreat are cqual, then its power factor is;
Ans o 1. 0.707 lagging

X 2 0.5 lagging

/< 3 0.707 leading

X 4 zero

Question ID : 54592771023

Q13 100 mH 3itt 200 mH & T=-dre #7650 mH Y TEEIT e Al & SR T s d g
| TESE W T STEET g

Ans X 1. 250 mH
X2 4375 mH
X 3175 mH
¥4 875 mH

Question 1D : 54592771017

Q14 b & 37 fwm 713 & w1 S G7 A ST SR 100V A REgE-as aHEMF)
Soae FAT €1 TRl Fe # AA Fiege-awe aW(EME) gEY g & 90T fegaawe sF(EMF) &
T P AT ¥ ST ATl e F WegA-ae INEMF) F W T ae § A, e
FEfmlt = spren wTe 7 afomh fSErE-aes TEEMF) @ g

Ans X 1300 V
2 AT

L

X3100 V

X 41002 V

Question ID : 54592771022

Q15 100 pF F & AT #1100 V A 500 V g% FAG F F DT HEWE FA FaAT g7
Ans X124 J
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v212 J
X3 1R -
X46J

Question ID : 54592771012

Q.16 Tn the magnetic eirenit shown below, whar is the flux censity produced If the relarive parmeahil ity of the core material

urider the given condition is 10007

v 2T
X 4 4T

Question ID : 54592771014

Q.17

A g wv aftey A, Seedfler & wrsarE Vi = 100 V, Vo = 50 W, V3 = 50 V ) BYE eles aan

a7
R L C}___
" * ®
£
v 1 100 V
X2 20002 V
<3 100V2 V
X4 200 V

Question ID : 54592771024

Q.18

Ans

10 @ T 3T 2 H s = 7% = 50 V F1 °F #20 § gf ¥ $EA § o Fe et
2

v 25
X250 J
X375
X 4100 J

Question ID : 54592771018

Q.19

g JeTTad-uRT Sees WA v, = 50245° AR v, = 502 — 45° si@en
FH A7 2 &) oo aees 7 g@em?

X1y, = 5022 — 45°
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X2 v =500/2245°

v v =50/220
X4 v=5020

Question ID : 54592771021

Q20 Ay gefr 7T Aead & e, A K B i ¥ @ ghy F A

Question ID : 54592771011

Section : Discipline2

Q1 zpger #= & #9137 Fuls & aifier @r @90 & 100 V, 30 W & v &9 @ v — 200 sinl00t &
TETEd! O W # Fed # UEH w1 o7

Ans 1. 10 pF
v 2 50 pF
X 3 100 pF
X 45 pF

Question ID : 54592771026

Q.2 Three vieuil elewens — munely resistauce R — 3 £, inductive reuclues X~ 16 Q aud capucilive reactance X — 20 2
— wre in parsblel acros an e soome of Tegueney 30 He The feput admitanes of the cireait (in mhoy is:

Ans X 1. (0:2+j0.05) 0
o2 (0.2-j0.05 Q
X 3 (0.2+j0.15) Q

X 4 (0.2-j0.15) Q

Question ID : 54592771034

Q3
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Identify the type/status of circuit the below diagram represents.

60

100‘%) =ﬁ .

8Q

Ans X 1. Inductive
X 2 Capacitive
X 3 At resonance
o 4 Resistive

Question ID : 54592771029

@4 The resonant frequency of the circuit below (in rad/’s) is:

1F

aMH

1

B
Ans X 1. 1.5
v 3
K309
X445

Question ID : 54592771032

Q.5 I the circuit below, what is the eurrent drawn by © and the cirenit’s reactance, respoctively, if R dissipates a power of
100 W and [T) — 24.
1

v
S0 Hz

@ =

1Ia

Ans 100

vy \f’?Aand-vri— Q
X2 lAand 1000

s 100
KB. lAﬂﬂdﬁ Q

& 4 /3 Aand 100 Q

Question ID : 54592771035

Q6 5= v= FemEE T 60 V 1 o Seee AR FOr I &, A s ¥ 5 A € Regdanr
STEe e ¥l =9 fme-urn aets w7 WO AeieT 400 radls % FeUEEr OTT Sees R
wfenE T s ¥ 8 ege-anr 9 e 3A ® A §) AaAgs O a4 g7

Ans X 1.002H
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X204H
W3 004 H
X402H

Question ID : 54592771027

Q7 Ay zefdr av ooy #, a7 ¥fwan ega fFa gt 5 R &7 HafE e o @

30
9V b4

Ans KL W
K2 4W
v 8W
X 4 16W

-'R

<
b3

()38

Question ID : 54592771038

 ofEqgy ger fFadr s &7
X Fega &

v 2 maer $r

X o Tega-umr &

X 4z $ir

Question ID : 54592771031

Q.9 7% RLC y@wn &% a9 TR &, R = 5 1, C = 100 yF #7 L v =7 &1 1000 rad/s Fr Foim
FEET <7 100V FT SRS T TROY T 6RiT T o § L smer ietE g £ R R e
Fftepers @ =rar ¥ HEes L & A @A gen?

Ans of1.0.01 H

X210 H
X3 01H

X41H

Question ID : 54592771028

Q10 The power factor of the below circuit is:
20
A
Be

X 1. 0.5 lagging
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W 2 Zero lagging
X 3 Zero leading

& 4 Unity

Question ID : 54592771040

Q.11

A @i v SRey F, s A (Fees Fe) @R iy fege feae g
jv 5Q

Sv,
SV
50 £

Ans X1 0125 W

V20256 W

X3075 W

X405W

Question ID : 54592771043

Q.12

Ay Zairdy 7T aftTw 7, | Regeam, dw i v (@ees ) g g f S T R
e &7

0 I
24V 5

Ans %13 A, 90 W
w23A,18W
X33A 54 W
Xa3A 72W
Question ID : 54592771044
Q.13

o vk FgRE T ANE () 9= & s Sy & 9T (3 4 2) 0 § O FAge
vy Ao (Seer-waaes) g H Fiderer Far gEne

Ans % (3 +j2) Q
v 2 (9 +j6)
X3 (3+j6)Q
Xa(2+j3)Q
Question ID : 54592771030
Q14 Frr i o S F A AT FA T SEeT 7 g WiET At AT fegaaw v e §

wry 37 e & g Sy =nh agfea 100 radis 7

2Q
10
1
v
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X1 8 mH
X212 mH
X316 mH
¥+ 4 mH

Question 1D : 54592771042

Q.15

A Y av ofgy &, BE §F (@ees @) W Faar sees gen?
10

vy 1
»
1o¢ :ZQ(?E 20 %av
3
st

K123V
v22v
X332V
X4 4V

Izl"

L_AAA

Question ID : 54592771039

Q.16

Accoil of quality factor 20 is connectad in series with a capacitor to an ac source of 100 V. At resonance, the volmage
across the capacitor will be:

X 1100V
X 2 1000V
&3 500V
v 1 2000V

Question ID : 54592771025

Q.17

Re & w7 & fow v 3T | &5 & g

t—)I

I 3

Vv

50 2R
50 "'19

[
X112 0
X260
vi3o
X490

Question ID : 54592771041

Q.18
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2H s I UF gET £ T REgoum 4 As T @ B TE W FE 8T g aww
el 34T gI?

vigV
X228V
X34V
Xa4vy

Question ID : 54592771033

Q.19

B % west # fag A @ e w/m geme

5Q A

AAA
yw

= 100 (OLE

15V

X110 V
X215V
X3 -15V
vi-10 V

Question ID : 54592771037

Q.20

ﬂﬁ@ﬁmmﬁ,quﬁﬂmﬁmﬁﬁﬁaﬁmﬁh

%ﬁn "
6V

2 A()u Q:

12 ‘afj

I_I"‘

Ans

s of 1 4W
X2 2W
X 3 8W
X 4 16W
Question ID : 54592771036
Section : Discipline3
Q.1 A galvanometer with a full scale cmirant of 10 muA hac a resistance of 1000 Q. The multiplying power of 2 100 22 shurt

with this galvanomerer is.

X 1100
X2 110
X210
vl

l Question 1D : 54592771058
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[ §

Q2 ofr g zEr R #r o fEgm-unr 5A ¥ & BT A B gem

Question ID : 54592771046

Q.3 3y vah ot Aol 7o stex 3 gt Ao 10% @A @ e g, Al I ge sie e de
¥ 9o & F T gt

Ans X1 10%
X2 75%
X3 15%
4 20%

Question ID : 54592771048

Q4 var siwd alezar 200 V o sEd AR § gayd Raga-unr 08 & Jeaemh Rggs e 9 50 A
| @ T ST FegE B AN # vIEd AA 7 §H fe dAe 7§ T g Rege-ara
T FE & TV 4T FA A E, R e g A § ow A 0 O W 3 fEgnuw o e
w3 @ afdy @aes 001 @ 5 1000 0 3 dicdter # wIsuE @ gen?

Ans X1 4040 W
v'2 8040 W
X3 8400 W

&4 4400 W

Question ID : 54592771056

Q5 1n a split phase induction motor, the two windings of the stator:
X 1. have equal resistance

X 2 are mutually displaced by 180 electrical degrees

/X 3. have equal reactance

o 4 are mutually displaced by 90 electrical degrees

Question ID : 54592771049

Q.6 % PMMC drseiet & 50 pA &1 arwey HUFAR Sees R (T T ) feagE-un 31
o Few 1 e 50 v T T v 100 0 &, A ST # gaem Fm e
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Ans  of 120 kV
X210 kv
X3 40 kv
X 4100 kv

Question ID : 54592771055

Q.7 ofy o wiEE @iy & sveaur A GRaAT gedt & Fae F Rega-un & g o R s 3
2 s e

N X 1. & & 9T S

X 2 IR AT TS FATTT
=TT §§ A

X 4 2 I qg FITEm

Question ID : 54592771053

Q8 200 v # 3efd & @y ar 5@ 200 WI200 V 3R 100 Wi200 V, ST FF & ¥ §) aRew gE

Ans X 1. 300 W
X2 150 W
V' 20013 W
X4100 W

Question ID : 54592771052

Q.9 4000 A & ve wEeg Rego-urT 400 / 5 A Rege-unr @ v siade & qu@E 9 F & e @
7| Regmaw 9w % s W #iw Sega-aw e @ W s 50% W FETEA B
SEET HEEATEE 0T T B

Ans o 1. 20
X2 30
X310
X 4 40

Question 1D : 54592771063

10 gl @7 gfERry fraar ger aifRe?

X o3Ea
X 2 AeOH
X 3 3=

o ¢ BAIREE SgAaH

Question ID : 54592771051
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O Ay getr av afwy &, FAw Vs 3 i F A Fr Ehee

20 5V

iy
- %Q?Q
ZA _:’5 T

ans of 114 V-1 A
X2l Va1 A
X314 V,1A
X4-14 V1A

Question ID : 54592771047

12 2R3y Zei av oRmy &, atesfer TsAiE 4T Eem?

= "50/5ACT

Ans  of 1 BAD W
X2 320 W
K3 800 W
K4 400 W

Question ID : 54592771064

Q13 of deesder 7 Fw 2 V & S s wamETer 1 kaV B, & IRww # seeser 7 seaE
e

a0 L

wo VT

Ans X1 0.33 V
v 2 066V
X3 099 V
X4 044 V

Question ID : 54592771057

Q14 The relay used for feeder protection is:
Ans
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X 1. Buchholz relay

X 2 Under voltage relay
/< 3 Thermal relay

« 4 Translay relay

Question ID : 54592771050

Q1S == g HY Fhdses & @ LV 9Eses 110 V ST S o g & TF g T A 1
KVA 1100 / 110 V =7 ofi=de 100 W %1 fege & SREr == ¥ 1 off 5o LV ofigsew & &
HV aft@ses 57 1100 V amifta B oo, o Rgga & @R e g

Ans X 1. 10000 W
X 2 1000 W
3100 W

X410 W

Question ID : 54592771062

¥ A, B TS W HHEGeT Uiltar AW 4 ge?

2F Il

ans o1 15 F
X225F
X34F
X43F

Question ID : 54592771045

Q17 The power factor at which an alternator operates depends on the:

s K 1. armature reaction

v 2 npature of load
X 3 armature losses
X 4 speed of prime mover

Question ID : 54592771060

Q.18 1000/5 A 50 Hz T e Fead-amT WRads d wa wiga fEs (a0 wsat) ¥ e soius
@) 1 0@ g TR & H 05 F ufde e (TR Sae) W1 A H ReT fega-em I #
g e e s e

Ans
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X 1. 0.05%
v 2 -0.05%
X3 05%
X 4 -0.5%

Question ID : 54592771061

Q19 5w 08 grawmh faga Tors o frdfrs S smfd & ok § T T fase & Ty o
T ST A A deest 200 V @A #1350 P F T, G 9he & Befae deis 230 V
3T ¥ TEE AT =T Sew e fEer e

Ans X 1. 25%
X2 13%
v 15%
X 4 10%

Question ID : 54592771059

Q.20 o T AT F FEAd 39-AT (o) & 0 Fewd 10 ¥ A 9wy & fegganT 200 mA § A
R % TR @ sAfed Fegm-am e @t

Ans o1 20 mA
X 2 200 mA
X3 2mA
X 4 2000 mA

Question ID : 54592771054

Section : Disciplined

Q1 5 & Al 9w aET 10 V 1 UF J19 TF TEEE F AT ¥ 20 Q F FF U SE A6
FUwen Regd 0 & B, aoE & gAE 3 Thael @ ange?

i of 142
K211
XKa2:1
X41:4

Question ID : 54592771074

Q.2 The flux producad ina transformer contains a third hammenic camponcent such that the resultaat flux is flat toppad, Then
the shape of the waveform of the emfs induced [n the primary is:

Ans 1. Triangular
& 2 Sinusoidal
' 2 Peaked
/X 4 Flat-topped

Question ID : 54592771075
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Q3 w gewfom Sfaw & wA IR i fme sfoam foee (@) B e Suife Sar e

s X1 Faw ZPF witetor Zan
X 2 OC 3R SC gfiaror g@rr
v 2 OC 3R ZPF 9irefor ganr
X 4 FFz OC gfieror Zary

Question ID : 54592771082

Q4 02 0 & goie wfady & @y 6-ga 50 Hz arel v 3907 e 1200 rpm 93 10 Nem & Afsas
YT 9 5eeA =TT 51 HEaA Pt g% 9, FA e afawe #T gemerew S A graeies
st & @ Faw (e @ @

e X1203Ro1pu
X21Q3#R01pu
Xas2aq3ro02pu
vi1ao3dR02pu

Question ID : 54592771071

QS e dmde GO B e & geaees T wgeretee T & €9 s () o ot e o
afraE @ W # ReEE & e, 1l wiE @ S aeEE e o fqw S §, @ see & gid
Ans .(1 o.s
K2 1+s
X3 1-s
Kas

Question ID : 54592771070

Q.6 iy £ 79 & Biw s B s are sRew (@F T e mn 8) 4, 38 i aesde F aemis
2 A AR 200 v ¥ 3ERET R ST 9y Fen 0.1 0 #T 2000 o § 9 F 9 ee A=
(FFeriter eTaEer mEde) # S IfE 82

R

as of 1. 5%
X2 9%
X3 10%
X4 15%

Question ID : 54592771066




www.HaryanaJobs.in

Q.7 wF 16 kVA, 200 V @ TEe-the SoIEids 5 A & R & @y w5 T weeieu 7 200 V @ el
SEF FAAT 1 FT A = HaE Fg-hed 3 g, & FeifiE s Regaun 2 A ¥ R
T AR @ E1 200 v F amurfie A Al 20 & i kYA & Ty T SR s wheEmr
T BT

M X1 fe
X204
V308
X402

Question ID : 54592771084

Q8 @ e Ffealer B RregA-oT FIet F1 RBEge-amr T R % W ST S § A P g A
Fegeumr 99 R 3R Tafm 09 59 30T F o v & A e e § 5 8w 10 kW g 71
B HTFA RYB & WR UR-9Y (dFF) Siees 400 V §) U-ay e HeRe Regaanr 54 A )
#fy SEga-umr e & umeTy R W s fegmae e o of, faere $ B i v wroome & A
56, @ SeA 1 Fa Tedis F g

A o113 kW
X20
X3 -13 kW

X 4 20 kW

Question ID : 54592771065

Q9 wwetnw TiEde F 200 A & v o F gfedins RegouT £ oot mvfas Reggum wwoEw
I AT &1 FE Wi wiedrd #T gfaees e vieny = 1.5 0 J 0.015 o #
STt SR EEETE TR & fme siaes & A s 2 o Al 002 o §1 9E fSEgeaw wr
SUST d F §Y, Sl @ 9B dieed wg-afede aRFdue & Aean @ g A FEgaunr #
HERE S

i A7
X2120V
v 100 V
X440V

Question ID : 54592771072

Q10 A= geawfas S35 4. 5 F 935 100 MVA, 11 KV & fore Beifie 3 0.15 7 ofF g
wiearr ¥ afr St sREl @ s v wEes T A sRenRa & R se. @ gaws S@E
A W lew Foarar w4 aeie

Ans X 1. 0.45
X2 0.15
K3 0.025

W 4 0.05

Question ID : 54592771083

Q11 038 % =rwew RS sy =167 vw TEAitEAS 10 kW & sty $t i ster # s o wive =
¥ AR Faga e aete

Ans X110 kW
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X 2 8 kW
X 3125 kW
2 kW

Question ID : 54592771073

Q.12 The oulput of the prime mover drivicg analiemator is constant, The power facior of the allermator can be changed by
changing the:

Ans 1. speed
X 2 load
v 3 field excitation

#5 4 phase sequence

Question ID : 54592771079

Q13 0.1 % geawPm AT Fgramiag T & N Ao (Bew) 7w 440 V, S, T-UE, 60 Hz
T AET 7 HUSAE FECT 97 400 Nm E| T ST SRS w60 Hz # ofeie st o aw
ST SFE= &1 HaT F 400 V T B S0 A FH T HOFHAE WU a9 3T BEE Jeueies
HiT F-geamitem @ia & @ Hae (e = @

Ans 1. 4756 N-m , 0.83
X 2 436.4 N-m, 0.12
3 4756 N-m , 0.12

X 4 4364 N-m, 0.83

Question 1D : 54592771077

Q.14 =% 500 Vv, 50 KVA SEIATET & FHET 9T 0.2 0 #1 10A # v el P /Y awr w
200 A Fr T REgeu At gE oftTy oT 450 V = ST 3T FT £ 5EET geaeie s
qiders Fur gem?

Aoy X124 0
X2112 0
vi224 0

X448 Q

Question ID : 54592771078

Q.15 46 pole star-comecied three-phase aliernalor, diiven a0 1000 rpm, bas 108 slols wilh 10 condusiors per slol. The slol
angle and the mimber of mrns per phase, respeetively. arc:

Ans X 1. 7.5° and 360°
X 2 75° and 180°
X 3 10° and 360°
“ 4 10° and 180°

Question ID : 54592771081

Q.16 A balanced thres-phase induction motor s ar a slip of s. If its synchronous speed in rads is w,. the rzlative speed
between the rotor sl and the staler cunf is:
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Ans X S0
X 2 (s-1)oy
X3 O
v 4 Zero

Question ID : 54592771067

Q17 faggg-sead (F19) § RE0 @5 W 200 V Te U 96 UF AR 48T & # 50 A T30T S §
3T 1000 rpm &7 7TF & oS @1 @ ¥ g I 0.2 o #1800 rom WY TRATa sETT (T
&7 & BT e SR @ HA A A FEH Fe?

Ans X138 0
v 2094 0
X3 054 Q

X4260

Question ID : 54592771069

Q.18 0.6 Fege wew T fergy AUTE W T AT AR F T 5 kY R B & ateds & any,
TF 900 MW FTE-TTTSE (FeTEEs) Se-ihe Seeatan e w1 # fage-am Rt e

e K11 kA
# 2 1000 kA
v 2100 kA
X410 kA

Question ID : 54592771080

Q19 15 kvA, 6001120 V % fore fauife The-ie 2 TRdsed sfTds &1 600 v & wafy ZE 720 v
B S 7T F R T F w9 & e e b e Peae 9w (upf) TR diwaR W
w2 fermehr o amafer F e 27

Ans X 1. 15 kVA
v 2 90 kVA
X 318 kVA

X 4 75 kVA

Question ID : 54592771076

Q20 daaer Pt & Yaw @3 & sRefae o Bee um Rege s9-ar (@) Aex deas vt &
R 87 § 7 & T A4 W T aees & W 1500 pm WO TEAT & T AR dees
3 B0% Fr w2t &% & ST, o Fey Fr o s gem?

Ans X 1. 750 rpm
< 2. 2500 rpm
< 3 3000 rpm
v 2 1500 rpm

Question ID : 54592771068
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n : Discipline5

TF FREW 7 0.8 F TF Segg-afea vew # 400 kW # siwg @ ¥ #T 50,000 sl & EE

ITET & T 0.5 F A gee §1 I Uee o (RF) #feaw A & 50 w9 9 kA S
I F v TET 1 Toam &, Fen & s #F Tww a7 s g

X1% 1.8
X2% 24
X3% 16
vig 2

Question ID : 54592771096

Q.2

TE wrmEaE, S A TS 5% TATE F WT 10O MVA, MKV SR hfE E meeer we A

FRTE # 95 AW # 7Y 799 TR =0 g
v 1 200 MVA
X 2 50 MVA
#3300 MVA
2 4100 MVA

Question 1D : 54592771085

Q.3

T Fregadm F won, o e Pegeama & e T A St Teean-am o &
T F vF Rrmm uny (o) S e e am i e em o s wd L T A

A 5% drwes & R AM9ET R o oie 2 gReE H e B 2
&1 40%
X2 60%
v 3 50%
X 4 30%

Question ID : 54592771095

Q.4

TF TS ST @ X omEnTy (FeT) F, o o aees FRme 4% 3 amenTy (fien) Fr =

X 1. 96%
X 2 94%
V'3 92%
X 4 98%

Question ID : 54592771094

Q.5

25CP 31T 9CP & &1 & 1m & 3y W e §) 3t & g e = dedt e Ry w

39 TE g F ST S g

X 1. 25CP &9 & 0.45m W f&g fig W
X2 25CP & & 0.375m W fua fig
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X 2 9CP &9 & 0.625m W fauw Rg ™
v 4 25CP 9 & 0.626m =X e fag =

Question ID : 54592771103

Q.6

T S fers A & wE g e weits weer w o ol g § ik o oy e s ol
F| garE FEar T 4 MUMVA g 98s T & S=ar Towsis Far e

v 12 MJIIMVA
X 2 16 MJ/MVA
X 3 4 MJ/MVA
X 4 8 MJ/MVA

Question ID : 54592771086

Q.7

An industrial load has a patern of 4000 kKW at 0.8 lag for 12 hours and 2000 KW at wnity power fector for 12 hours Its
load facror is:

X 1. 0.25
v 2 075
X305
X415

Question ID : 54592771092

Q.8

2 T e F A 100 mow EEn 9W W w@eor feze aeeey @mea) w1 Al 2 moarm
| Hew Rt & F9 5 9Rade e R, ofy e Reaw S ovas 120 m s g s g, A
v 1288 m

X222 m

X324 m

X426m

Question ID : 54592771090

Q.9

T 3 gor U AR #, §90 eaA g F dees 9fWe 20 kv ¥ 3t AR awen 73% 31 ®9ot an
F o7 Iees fhowT grm?

X 1180 kV
v 2 45 kV
X 3 90 kV
X4 225 kV

Question ID : 54592771088

Q.10

In an electric discharge lamp. the light is produced by:
< 1. Magnetic effect of current
& 2 UV radiation
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& 3. Heating effect of current

« 4 Tonisation of gas or vapour

Question ID : 54592771099

Q.11

Ans

sl e e v ssRiae sir Ree SRR 3 8
¥ n 9T F FETTE HT

X 2 s #r

X 3 gaTEs Fr

X4 p IR F FETTers T

Question ID : 54592771104

Q.12

o wenfist &7 sfaar fFumor frw &9 & fosar smar g2
v 1 kVAR

X2 kVA

X3 kW

£ 4 kWh

Question ID : 54592771093

Q.13

AT FAE W R T W v A E ZE S Ee, St He W 9 S W gl i
Tt Frr R A a2

X 1 1/cos8
v'2 Cos3
# 2 Cos?d
X 4 cos@

Question ID : 54592771098

Q.14

H-HaEE o19 2aRT FH W F @ dua SRl e ve @9 & e aftwa & de tan S g
e #1000 V F S i amafd & swd g, 3 005 ¥ Rega-afFa gow & @y © pF A
AT ST S E] 900 W T REgd g1 & FEge0 F TS o0 9E 39 & & fav wE
& ¥ gTa (MHz ) Far gen?

X 1. 1000/
& 2 2000/m
< 3 20001
v 4 1000m

Question ID : 54592771102

Q.15

2-E AT TEvE-HET WU # UN-9 (FeA) Seed 100V § 200V &% wEET =i ) AR & E e
Tego-aa g 5 vy Rego-es f 7= a=r & @ = gff 9 Faria e o ) g &
Girere e her gen?
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ans X 1. 150%
X 2 50%
X 3 125%
v 4 75%
Question ID : 54592771089
Q16 7= 50 Hz 6 47 1000 MVA, 44 kV Feuemfers =T 0.8 % qeowmd feay oo o1 qor s

AT @ TE ¥ v Raga=lv F wWor gww e 50% @A g St g1 A, @ Fr %em e g
sk 77 TR w5 wien w6 A s o Rege = W B L Regeam s
A @ FAT H AT HET T (MN-m H) 0 geTT?

X . B/

X 2 24fm

V'3 12/n

X4 2

Question ID : 54592771087

Q.17

s & ® By T & atr &8 Ao i 9o @ F &7 g 7
X1 o

X 2 Jer

v &

}(‘4.;1-\}1-“-

Question ID : 54592771097

Q.18

5@ T & 40 NiTanne & Te =y (&) siodio & Reg 100 @ 2 & v a9 O 0 o7 ol &, &t
FTEey =NUTE 4 57600 N #1 afe a1 F 40 kmihr T T@T ST § S AT detus (3fF
T W F IR w1 F T e frgm-aiie sawer gehe

v B4OW
X 2 1280W
X 3 320W
X 4 2560W

Question ID : 54592771101

Q.19

N 71 & @rer a1ger & Hee ¥ e =g g sfe afdy B ¥ s §2
KNS &

K2ANF

KoN ¥

viNZFE

Question ID : 54592771100
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¥ S T F saT 8 e Fr RNt s
e X stae wE

X 2 HfEaH AT #

v o It ST &

X 4 3T Rega-a@Fa v

Question ID : 54592771091






